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lll Semester B.Com. Examination, November/December 2017
(Semester Scheme) (2015-16 and ‘Onwards) (CBCS) (F + R)
COMMERCE
3.6 : Quantitative Analysis for Business Decisions — Il

Time : 3 Hours Max. Marks : 70
Instructions:  Answers should be written completely either in English or
in Kannada.
SECTION-A

1. Answer any five sub-questions. Each sub-question carriestwomarks. (5x2=10)
SR TTOTITO 2T m’@%ﬁ@ﬁ 308, B3 mggﬁ 2 08N,
a) What do you mean by correlation ?
RBROWOT OB ?

b) If bxy =-0.36, byx =—1.38, obtain ‘r’.
bxy = —0.36, byx = —1.38, 333 ‘I’ 30t30&R0200.

c) Write the meaning of irregular variations.
90T WHLTDBEBOI @cﬁraﬁabq SPR.

d) Expand (y—1)6=0.
(y-19%=0 [T DFOR.

e) What is meant by multi-stage sampling ?
LBIBOBT DNTO DOTTERD 9

f) Mention methods of sampling.
RO DENIS, SR

g) What is probability ?
ROPRVE0T DOTTERD ?

P.T.O.
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SECTION-B
Answerany three questions from the following. Each question carries sixmarks.  (3x6=1 8)
SBRYTOR R BINER cuor. B3 TR e e
2. Ranks given in a music contest assigned by two judges are given below :
JudgeA: 4 5 8 6 T 3 1 2

JudgeB: F 4 B 4 1 3 2 6 8
Calculate rank correlation.

RoNea Ao fangdJ SERIDF IO B3 FPFOTR B eednIY Qe@TITT.
Seorsmes A: 4 5 8 6 7 3 1 2
3eRprsmS B: 7 GlestgTReeRe g g 6 8
Beed %7\))0&)0@35?&2{ BOTOEHEOND.

3. Calculate the two regression equations from the following data :
X =20, ¥ =12, 6x=5, 6, =25,r=0.8.
B3NS DBTNRLOT TR &ordwFED FBROEBRIR) FORERCD.
X =20, ¥ =12, Ox=5, 0y =25, r=0.8.

4. Estimate the population of India for the year 2021 using Binomial expansion
method from the following data :

Year: 1961 1971 1981 1991 2001 2011

Population : 439 548 684 8 100 111

(in crores)

20218 270085 %3x093,030:3) 83 BN Te3pD RAE00300T LReeQ0HS” DGIREY; 2ZOR
E30TIDTIA.

SR 1961 1971 1981 1991 2001 2011

wRead ! 439 548 684 89 100 111

(Brcuinyd)
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5. Aman wants to check the inventory records against the physical inventories by

a sample survey, permitted deviation is + 5 and standard deviation is 39.4. Find
the sample size, if the confidence level is 90% (Value of confidence co-efficient
90% = 1.64).

RoBone e &3 T3, 8 RoBNY IR TOBoDH BRTO OETFS BRBELD B&BRT
RS +5, FOFR 283 39.4 Ry Jowddw, 90%, S8 RNTO0D e:mdddg{
BORI&HEBOWD. (ﬁowﬁa‘b RABrOeE 90%=1 .64)

6. Two unbiased dice are thrown. Find the probability that
a) both the dice show the same digits
b) the first die shows 5.

QTR TYTOBDOE BRR) SR, BOYFTBR0TBOII) T &BOD.
a) 0B BFTND worse o3 oD BReOATHN
b) ReuuRod Bx® Kol 5 BredaTn.

SECTION-C

Answerany threequestions from the following. Each question carries fourteen marks.

(3x14=42)

OIRPTTETER DO JIrern eugor. B BIri14 ©osned.

7. Compute Pearson’s correlation co-efficient for the following data and also calculate
the probable error.

Supply : 30 209 209 25 24 24 24 21 8- 6
(quintals) :

Price R) : 11 12 13 14 15 16 15 17 18 20
318 Bednd NIV eplaS v ol leveien] &odnc’-'»qtd aﬂ%éoaaocﬂ ::’Sm’owocﬁdaﬂi ek%md
RRE T BoyIERE0sd Bag) FOrRE0BOWD.

Bowoeew: 30 29 20 25 24 24 24 21 18 15
(3pt00)

B3R 11 12 13 14 15 16 15 17 18 20
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8.

10.

Calculate trend values by the method of least-squares from the data given below :
Year : 2009 2010 2011 2012 2013 2014 2015 2016

Sales : 76 80 130 144 138 120 174 190

(Rs. lakhs)

Plot the values on a graph. Also estimate the sales for 2017.

G, I IREE) 200 AT BT B0IT BR0DAD Tore TessasEodQ t o’ iSedd)
rochaR 202 201708 0Tt SR0DEI) BORaBECH0.

See 2000 2010 2011 2012 2013 2014 2015 2016
Spood: 76 80 130 144 138 120 174 190
(8. ©3¥0)

The heights (in inches) of a group of fathers and sons are given below :
Height of fathers:71 68 66 67 70 71 70 73 72 65 66
Heightofsons :69 64 65 63 65 62 65 64 66 69 62

Find the linesof regression and estimate the height of son when the height of
father is 69 inches.

3ot ﬁmwpd Boc3 B2 mw DZTO0T L08R d’eaﬂﬁds:b BB B0, S0 HFT
69 1023onEd famrf 27 @36 eDmD QOT EI0TIOR.

Bordod T 71 68 66 67 70 71 70 73 72 65 66
:os;: T 69 64 65 63 65 62 65 64 66 69 62
Below are the data relating to wages earned by workers per day in a certain

factory. Calculate the number of workers earning more than X 75 per day by
applying Newton’s method.

Daily wages Q)upto: 50 60 70 80 90 100
Numberofworkers : 50 150 300 500 700 800

FF BSOS, T SO FOD0F FOO NIAT BT, TOWORRT TELRT FHN VEBOONT, O,

gR. 75803 ézeb DRI TR FFTT No:ﬁ O, 2BOEEB00. SR’ &quas’asdo
@5 030:-06

-:gaawcssmsas: 50 60 70 8 9 100

11;

FIWFFT ;!50935 : 50 150 300 500 700 800
Estimate the production for the years 2013 and 2015 with the help of the following data :
Year 2010 2011 2012 2013 2014 2015 2016

Production (in’000tonnes): 200 220 260 ? 350 2. 430
IR QRN eo&eﬁoaﬁﬁ#mod)aod 2013 =) 2015 FF T LUSTSODR LT TRE.
SR A 2010 2011 2012 2013 2014 2015 2016
w%dé(’ooo B ndY) 200 220 260 ? 380 ? 430




